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/(%) for all positive real numbers x. v. It f(20)=15.

Let f be a function such that f(xy) =
then f(50)=
fx)

GRS Dopgen x, yosr f(ay)= edoglity f ©obo fadHdEub.
L. = = = C L= &
5

£(20) = 15 wowd, ebydd £(50) =

Options:
75
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2

If f:A — B isafunctiondefined by f(x)= ,, = then. which one of the following is
2, ox

true?

2

: o XT—% ; :
A 5B o3 BEichdn f(x)= T ASeDotndd, wivd & 1§obTiS” 6
X +2x
w23a007?
Options:

A=[R - {0.-2}. B=IR and f(x) 1s decreasing function
A=R - {0.-2}. B=R%8c5n f(x) @365 Hdochdon

A=R-{-2}.B=R - {1} andf = (x) 1s decreasing function
A=R - {2}.B=R — {1} 50805 f(x) @560 Hdhohsw

L2

A=R-{0.-2}.B=R - {1} and f _1(:(} is increasing function
A=R —{0,-2},B=R — {1} 58050 f(x) a6 [H300050

Both 7(x) and /~}(x) are increasing functions

F(x) %0800 (%) en Bodor w8'Ere Hochinen
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The statement “#° — 51° + 4# is divisible by 120" 1s true for

“W—5n +4n o386 120 3 wrhodadiciod” oF BSuS50 Rz dgh
Options:
n=1 only

| n=18 Sm&o

n =10 only
., n=108 Srgd



n =100 only
n=1008§ Srg

All positive integer values of

1 G308, W) & ”-@Tq;ug Jendedr
4. ;

Question Number : 4 Question |d : 1874634484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

7 5 4 3 . =% 3
let A= .B= and C =
4 3 7 3 e

If Tr(S) denotes the trace of a square matrix S then

o

Z { BC‘]}

T A 4 3 -5 3
A= , B= C= woFob. o8 SHEH SMEE S Dok &S
4 8 ¥ 5 i |
2 oy
Te(S) & sr0% ey 3 —Tr {A(Bc)"'} -
k=0
Options:
45
9
2
36
81
3. 2
4 2
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3 4 5

If the inverse of thematrix A=|2 -1 8|isBthenB'=
5 =2 7
3 4 5
A=[2 -1 8| o3 5@¢ wg), 26" Ho Bwwnd, wdydh B =
—2 7
Options:
: 9 26 1
—35 -4 26
136
i 37 =14 -11
| [ - @
— 26 -4 -14
136
. 1 26 -11]
| 1 9 26 1
— 37 -14 -11
136
—38§ -4 26
3

| 1 g § 28
) BE BE -
136
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If x=0a. v=f.z= ¥ is the solution of the system of equations x + v + z = 4,
2x—v+3:=9.3x+v+2:=8. then4a + 2 + 3y=

X+y+z=4,2x—vy+32=9,3x+y+22=8 &3 Haé8e 5585 g, FES x =0
y=B.z=7 o8, vdyh 4a+2p+3y=

Options:
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(#]maf[-ﬁ]m:

Options:
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: 6 : .
If - is a complex number such that |z ——[= 5. then the maximum value of |7| is
= ot B v 6 b T v = VS v
T e ab 03'..]5(5; nopg |Z——|= 5 Bwolglity wod, vy 7 GIo08), H0Q Dok
Options:
1 ks |
:;
7, WS
1
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Ifa=3+4i.Z; and Z, are two complex numbers such that |Z;| =3 and |Z, —a| = 2. then the
maximum value of |Z; -7,/ 1s

a=23 +4?, Zlﬁﬂuﬂm Zgi’.ﬁu‘

Z1|=3.|Zy— a| =2 odgitn &0l Do Hosd Domgeonsd,

Wy Zy — Zy| B, KOG Dends

Options:

13

10

12

20
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If o is the real root and . y are the complex roots of the equation LI 4 3x e IR =0
then 200+ 3P + 3y=

x3 +3.1;1 +3x4+28=0 @3 Hnidwmo f.ﬂxs"gr PSS
B. yeoond, 2o+ 3P + 3y=

Options:
-5
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Given that o, B. v. 0 are in a geometric progression. If . B are the roots of T i =1

and . 6 are the roots of X gl g = 0. where p and g are integers, then the ordered pair

@.q)=

0. B. 1. S 0.8 HFES Gaod amd. BS* o, Beo HDogIwo +°—x+p=0 8
Sorerren So0dddn v, den DdavEdma 2 —4x+g =0 & Sareren, (28,8 p. g0 FTosTen)
wond Ed dofio (p.q) =

Options:
| (2.32)

-2
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If A. B. C are the sets of all values of x. for which 1 — 5x —14 is positive. —6x% +2x—3

is negative and 4x — 5x2 4 2 is positive respectively. then A(BNC =

X —5x—14 SIS ES T, —6x7 +2x—3 Soerd)ESor 500050 4x—5x’+2 $TEE
Sodglotny G0 x GwE), o) Jwde HNSes SHHM A, B, C oo wond, @byl
ANBNC=

Options:

N (-2.7)

, 0

5 3

(2-414 2+Jﬁ]
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The complete solution set of the inequation /x> —3x+2 > (3—x) 1s

29

Options:
i
3 .

(
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The greatest real root of the equation 6x* —35x° +62x% —35x+6=0 is

| ' e
6x* —35x> +62x% —35x 4+ 6=0 ©3 5o @Y, KOH THS Hreo

Options:

2
L.

b | A

tad

b | =3
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I: The number of all ten digited numbers that can be formed with all the distinct digits
and which are divisible by 41s 15 = 8!,

II: The number of positive integers that can be formed by using the digits 0. 1. 2. 3.4. 5
without any repetition is 1630.

[: o) 298 eoBor GoBLinm JHGSie 6 ol Jopges® 48 griodad
womgw Jopg 15 x 8l
II: 0.1.2.3.4, 53 @08oos@riod o wf) 8 YE0H5do 55008 G0ty ddiie
&l ”’@ra;ug fwmga éugpg 1630.
Options:
Only I 1s true

I Srig H8g50

Only I 1s true

IT Sov @ Hegad

Both I and IT are true
I156cis I eo Dodr éiﬁ’g_&‘fm

BothIand IT are false
[5:00in oo Bodr eddghion
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A man has 5 male and 4 female relatives. His wife has 4 male and 5 female relatives. The

number of ways in which they can invite 5 male and 5 female relatives so that 5 of them are
man’s relatives and remaiming 5 are lus wife’s relatives

a8 5588 5 S YHws, 408 Brdor 20T wIW. @dd grigi 4 s
Yoo, 5 M Drdan RoMPLIT GI. @ Ig8 B oo Dod 5 b,
wEQ gy Gos), wogPo dood 5 s ﬁuﬁé:ﬁrﬁ a0 woNIo N0d Sl Yoo,
5 o oirdesd &E‘f&“ﬁgfﬁofﬁﬁ@ AT e ﬁugg.:g

Options:



5426

5226

L2

5526

5626
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If the coefficients of 7% (7 + 1)® and (7 + 2)® terms in the expansion of (1 + x)™ are in
an arithmetic progression. then 7=

(1+ )M 088006° 15, (r+1) 5 S08ah0 (r+2) S H8Swe Hfdne o ©wodfes” &od,
et 1=

Options:
4 or 10

| 48 10

S50r9

5Sr 9

3 or6

ST 6
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5 57 . 579
If x= + —+ 8
213 313~ A3

+....then X +4x =

5 57 5.7-9 d 93
. +.... BSOS, @&jé} 1‘2-1—41':

Options:
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; L e . X :
The coefficient of x° in the expansion of 5 18
(x+1)(x—2)

(x+1)(x-2)

3
7 GB0E) Q30 ool X GnE), Meidn

Options:
9

48

15
. 48

37
32
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. : 9
If the periods of the functions sin(ax+2) and tan(cx+ d) are respectively F and . then

-si11(|n|+ |c*|) + cos(|n| —|.-:=|) =

hlrs

sin(ax+b) So80in tan(cx+d) o HHoire sigoen SHm Pt SlalentV

-5i11(|n|+ |r:*|] - c05(|n| —|f_‘|) =

Options:
-1
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The smallest positive value of x (in degrees) for which

.tan{x+ 100“) = taﬂ(:r + 50“}1311 x- tﬂ.ll(.‘f— SO“) 18

.taﬂ[:{+100°) = tan(x +50°).tanx- tan(x —50°) & DT ¥ G0E), EIY TGS Deod
(Bhees®)

Options:

25
L.

b | =

th
h

30
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For o #0. if cos(@+a).cos@ and cos(@—a)are in harmonic progression. then

3 Sl 7 4
sec” @-cos” e

f
i

a#0 %, cos(@+a), cosf H0ain cos(f—-a)es Trod)E Fas’ & dtond,

(14

i | )
sec” @-cos”—
2

Options:

12

L2
b | —

=t
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If cos 28+ asin @@= 2ar— 7 has a solution. then

0520+ asin@= 20 —7T o3 520850708 0 FES & ok

£,
G
1
]
g

Options:

| ee[-2.4]

ae[-6.-2]

-2

acl6. 8]

ael2. 6]
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. ' . : o RO
If x = a 1s a solution of the equation Sin 1;4—5111 : —=Sin 1x. then the roots of the
b =2
equation 3> —gx —1=0 are
TS e e ST, S | : L9
SinT —+8Sin —=8in" x @ JWET00 QY o8 FEI ¥=awond, ¥ —ax—1=0

©n DeE8o Roog). Dorreren

Options:

| b |

b | -

12

-+
a3 | =
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The set of all real values of x for which

1+ x (1+1-22) (141422
=gy, g | — — 7
—:X X X

L J +Coth'x+ loggt J +Sinh 'x is defined 1s

| Mrx (i 2] [ indiitn? )
f(x)=1log, i—l—_x +log, Luj +Coth lx+ lngetmj +Sinhx
—X X X

30 GDSHGghitn o8 X GwE) o) TS dewde dé

L,
3C,

Options:

¢

1.

(0. 1)



(-1, 1)
3.

(0. 1]
4
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1 1
In a triangle ABC. if the angle A= 60°. then + =
a+b a+c

: ; 1 1
a8 @hadn ABC &° oion A=60° wond, el + =
a+b a+c

Opf[ions:
3(1+b—c)
a+b+c
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InaAABC. SRSZ sin’A cos(B—C) =

=¥ AABC&, S8R’ sin"Acos(B-C)=

Options:
1 abe

i dabe
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maAABC.ifa:b:c=4:5: 6. then the ratio of the radius of the circum circle to the
radius of the incircle 1s

28 AABCS®, a:b:c=4:5:60008, rd S0[S THTGD0NE, WOBT D& THE PN E
D&y o I

Options:

1 13 7
1527

32

3 16 : 7

P 1729
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a.b.e are three mutually perpendicular unit vectors in the right handed system. If the

points P. Q. R with position vectors 27 +5b —4¢ . Fadh—3F and I 4T7b—6e
respectively lie on a line. then. the ratio in which the point P divides QR is

a.b.T e 58500 vonom dotr, BB HGOS® &) IS BbYen. 2a+5b — 47 .
d+4b —3¢ 00080 kg +7b —6c oo S&dm %X}érﬁ%’mﬂ? o P.Q.Red dothen
2.5 Fi‘-o’%fag::&i & 083, @.l:f}jéa QR & Hotoy P Deleod 3.1”-’&@

Options:
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Let & be the plane passing through the points 7 2 ik j + k and L be the line passing

through the point T2 7 + 3k and parallel to the vector ol 7+ k.IfP(a. B. y) is the

point of intersection of the plane 1t and line L. then. \/(az + ,32 ) }fl =

Me38 7.7.7+ ] +k o3 DocoPe fhor Fdlh Sebn 560k Lede 7 +27 + 3k
Doy Mol Far, i— j+

kF od H8%8% S3roddonr 408 H8908n edbioro.

P(a. B. 7) w3id dodn NHbdoin S L Guwg) podsd Hothas, \/(a'%,ﬁz)f =

Options:

. 0

Jia
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fa=i—j— F bh=2] — 37+ k and .ﬁl. D, are the orthogonal projection vectors of @

unE and .Em on @ respectively. then [p1+pa) (ﬁl —§1)=

a=1-—]—k,.b=2T—-37+k S00c50 Py, D, 0 5hdm b 2 7 S0cid g p b ©

L0028 HHEwond, .(ﬁ +ﬁg)'(§1 —ﬁz):

Options:



88

21
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=
X
il
izl
=l
I;'-"“I

b=

=
ol

: — = * i ax

Let @. b. © bethree non-coplanar vectorsand a = ———. . C =,
[ f‘] [f‘f b -i":l [ be ]

The length of the altitude of the parallelopiped formed by 7' 5 F_ ¢ as cotermunous edges.

. . -—f —r ] ' . .
with respect to the base having @ and ¢ as its adjacent sides 1s

e | g
a. b. ¢ o Jardy wsdoi HHder Sobcin a z[

- _
wSooTo. a. b. ¢ ol JIFT53IE wohed £ORS S5ro8s Sovdd a.é e

500 S£heTmenm ey £ cﬁ;s}g O I
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Let @. b. ¢ bethree non-coplanar vectors. Let S, (7= 1.2, 3, 4. 5, 6) denote the six scalar

triple products formed by all possible permultations of a. b, . Ifi, j. k. [ are randomly

i

e i 8; S
chosen distinet numbers from 1 to 6 and if x=—+ y= o —ZE thenx?+17=

S, S,
;oS i

a.b, 7 e IJ> Sords w8dch SGTw wdoBhomre. @. b, T o8 Fdghcdy e
STES00B A6 s vbe @ugdned S;(1=1,2,3.4.5, 6) w rddchsosioaro.

Lj. koo 1 2008 6 588 o Jopgo Dob ol dymnson QODETVD VP Dompgd,

5 8 S, S ¥
x=—1L 4k ‘1,:_;__4% RIOB, v 22 +.1‘E=
SJ.- Sy SJ- S =
Options:
11
4
3 8
4. -
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Ha=i—-2j+k, b=i+3j -2k, C=2i+j—Fk alld.i?:?'l-j-l-ag then the volume

(in cubic units) of the tetrahedron having (E xb ) X¢.b.d asits coterminous edges 1s



—
L]

L
I3
tail||__l

66
. 5
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The mean deviation of the data 3. 5. 11. 13. 17. 19. 23. 29 about its arithmetic mean is

3.5.11,13.17. 19, 23. 29 &3 deodhin Qo) wosldgtoo Sod T Dfgh ddedo

ir =

Options:

8.5
L.

[
o

T2
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If the weights of 10 persons (in kgs) are observed as : 45, 49. 55. 50, 41. 44. 60. 58. 53. 55
then. the variance of their weights is

10 H008 SgHe adino (8\m.e&5°) 45, 49, 55, 50, 41. 44, 60, 58, 53, 55 ™ KS0w,
e.eéjcéc a0 pyo Q%u
Options:

51
L.

42.8

"
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If two dice are rolled at a time. then the probability of getting an odd munber on the first die
or a total of 7 on both dice 1s

Body Trdfen wBF0 FHodSIYd, INEY FOFD T Sopg BT Bokodin Iwgo
7 &0 o8 Sogrigd

Options:
5

-
!

12
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If A and B are two events of a random experiment such that P[E) =0.3. P(B) =0.4 and
P(ANB) =0.5.then P(AUB) +P(B|AUB)=
A 58050 Bow w8 cird)dyE HErtos™ Bot fobibes wPdr, P(A) =03, P(B) =04,

.P(AHE} = 0.5 wand, -P[AUB] +P(B/AUB)=
Options:
| 095
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A speaks truth in 4 out of 5 times. A die is tossed. If A reports that there is 4 on the die. then
the probability that there was 4 on the die. 1s

Options:

| 3

D | 4=

L]

ol
WO |
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Let S={1.2.3..... 50} and A, be the set of multiples of £ 1n S for ke N. If x; is a number
chosen from A, then match the items of List - I with the items of List - II.

S={1.2. 3, ... 50} Sobcin keEN S A, odd S & Ko kAwg, Hdzdne DS
Ardded edsomo. 5 old A Sod ol WS wf Jopy wond, wde - I S
soTon, e - II &0 wored =458,

List-1 List-1I
erdas -1 arda - 11
- 1
A)  P(x;<30) N5
B) P(15<x,<36) 11—
2
C) P(x;>35) m -
D) P(y;>11) V) 2z
4
V 3
¢ W
a2
D 15

The correct match 1s
Slfenthy &G
Options:

A B

@)
|w,

IVI I NV ¥V

[
[ss
”
w

[
[ss
”
w
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If X is a Poisson variate such that P(X = 2) = 9 P(X = 4) + 90 P(X = 6), then
the ordered pair (Mean (X). Variance (X)) =

X o386 P(X=2) =9 P(X=4)+90 P(X = 6) oxdgbtn &) e.§ Fonwas Sovs vand,
whyddy EHosuio (Sgso (X). 258 (X)) =

Options:

(1.2)
L

(1. 1)

[

. (2.2

Question Number : 42 Question Id : 1874634522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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. 4 : :
If the points A(D, T] . B(—L 0) and C(1. 0) are such that the distance from a point P to

2

the line BC 1s equal to the geometric mean of the distances from P to the lines AB and AC.
then the point P lies on the curve

Pl Dodhd Sood 2860 BCE fo &rdo, Pibod S8¢dpen AB Hdcin AC ok fo

i] ’ B(_l- 0) ~ C(].O) 805 Sagrdhy

Ardaoae &Eﬂ&ﬁ;(ﬁg&&i‘a?ﬁ@ 2 RTPR0 E@ﬁﬁ&&&f’?‘ A(O.
: 3

DobPen sod, P Dot sod Higo

Options:

’ g |
4+ ¥y +3y—2=0
.

=32 +12y-8=0

n



.E(IE + _vj) +4x+7=0

.E(IE -I—yg)-l—S_v—E =1

Question Number : 43 Question Id : 1874634523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Let P be the point (4. 1) and Q be its image in the line v = x. If Q 1s translated through a
distance 2 units along the negative Y-axis to reach the point R. then the co-ordinates of
R are

o B gy ;] y = ¥ . oy o i T e .9 (e
P Doy (4.1) v, $8¢8p v =xdyTs T H8Dono Q wd vk 2y QI R
DohPHd VEET A8 o Y-wio Joaxd 2 cdaratn Darodd H0HdH0 e, wdy® R
QEFrS5Ten
Options:

1,2)

1.

(1.-2)

L-2

(-1.-2)

4 \1,2)
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The normal form of the linex+v+1=01s

O x+y+ 1=0c.fm§;_, wieo GrS5w

Options:
xcos(45°) + vsin(135°) = iz

.1'-.:05(45“) + j‘Si.ll(fiSO) =

1
z

L2



xcos(225°)+ vsin(225°%) =

1
ﬁ

xcos(45°) + vsin(45°) = —

1
&

Question Number : 45 Question Id : 1874634525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The vertices of a triangle OBC are O(0. 0). B(—3.—1) and C(—1. -3). If the line joining the
point D on OC and E on OB is parallel to BC and the perpendicular distance of O from DE

o 1 : :
is —, then the equation of DE 1s

i

OBC @ghzo &0, 285men 0(0.0). B(-3.—1) S8a00 C(-1.-3). 0C 2 Ded Dok,
OB% Eud dokdi §0H 3o BCE diroddor dotar, Ofod DES Ho voadrdo

1 )
E wowad DE dﬁmg& Do

Options:

x+_1'+\/:20

1.

2x4+2y—=+/2=10
2x+234++2=0

2x—2v++/2=0

Question Number : 46 Question Id : 1874634526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A variable line passing through the fixed point (0. B) intersects the co-ordinate axes at A
and B. If O 1s the origin. then the locus of the centroid of the triangle OAB is

w8 ?{gd Doy (0. P) HoTFch o 00T DEEy ASrHE wgod ASboin Bo Rl
podFod. O dwrododwyd wonddyd, OAB @dbe So|Berdidn GBuE), HoDEB0

Options:



Bx+ay=3xy

ox+ v =3xy

1

ax— By =3xy

Prx—ay=3xy

Question Number : 47 Question Id : 1874634527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If A is the orthocentre of the triangle formed by 2% = ‘1"2 =0, x+y—1=0 and B 1s the

centroid of the triangle formed by Tytes Sxv+ 2}'2 =0, 7x—2y—12 =0, then the distance

between Aand B 1s

27 —37 =0, x+y—1=0 0B HF Bhasn @Y, vouto@in A DO
257 —Sxy+217 =0, Tx—2y-12=0 o3 DB @abuo Do), Toderdsw B wond

A S0bcin Bo Hogy drdo

Options:

5

V2
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The distance between the pair of lines represented by g ] 2\(6.‘{:1-‘ + 231 P rdx+ 42 v+1=0. 1s

-

2+ 22342757 +4x+ 42y +1=0 B Srdodad SE¢dgrainiie SoFgirso

rl

Options:
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The number of integers . for which a chord of the circle x? + _1'2 = 75 1s bisected at (8, o)

and that the slope of the chord 1s an integer. 1s

o X2 4+17=75 Bwg, of g, (8. o) 5§ SoBrRots Bohwdér, u ag BwE,

Teo wf PToko wdbglnr ¢od YJrTosTw oo dopg

Options:
10
l.

L
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Single Line Question Option : No Option Orientation : Vertical

If the line x — 6y — 12 = 0 meets the curcle S= ! j-'z —4x+8v+6=0 at A and B. then
the point of intersection of the tangents at Aand Bto S=01s

x—6y—12=0e3 5553, S=1"+37 —4x+8y+6=0 o3 5520 A.Bo 5§ podD,
AXpiciw Be KJE S=08 Ans K}Jégﬁg;ﬂ Qg podn Doty
Options:

(1.2)

1.



2.1

]

(-1.2)

. @1

Question Number : 51 Question Id : 1874634531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A circle of radius 5 umits passes through A(-5. 0) and B(5. 0). If .P(Scns a. Ssina).

'Q(S cos f3. 5sinff) are two points on this circle such that & — f# = — . then the locus of the

N

point of intersection of the lines AP and BQ 1s

A
T5irgo 5 crdEy fe ol S50 ACS. 0). B(S. 0) © hom 08, a-f== edyger
: & it ) . it e ! on e T (o R 05
P(5cosa. Ssina@). Q(5cosf. 5sinff) w3 Do DochPoi SEcy 80808, whydd

2U¢opeo AP, BQo podd Dol Gwd) Dodaddo

Options:
2+32-10x-25=0

-2

Question Number : 52 Question Id : 1874634532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two circles which cut each other orthogonally. pass through the points (a. 0) and (—a. 0). If

both of them touch the line y = mx + ¢. then =

S8HG0 womo™ PodohbER Bod SyFe VoY (a.0). (—a. 0) © Doz Febaon.

©@d Bodr y=mx + cOpd Jy3d08, widyd ¢t =

Options:



] o ]
| a- +nr

nj(l +m)?

3

&

nj(l +m

. a*(1+ 2m?)

Question Number : 53 Question Id : 1874634533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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; . V. S
For the system of circles given by (:c + _1-*2 +2 gﬁ.) + A (x + 3 2+ Ir) = 0. where
g# 0. f# 0and A 1s a parameter. if the line joining the point circles of the system subtends
kS

aright angle at the origin. then fﬁ =

g#0, #0500 L5008 0P8, 3+y2+zg;r)+,1(f+_v2+2ﬁ;+ k)=0 &r00d
it o cfoy, o o =5 =8 s oy [T e &5 o gl ;(
HE VEBS'Y DodoHIeod E0W Ty, Drododd) I§ voufwo Ty, v f,, =
Options:
L
2 1
3 -
1
2
4
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For the parabola ,1'2 + 2x + 2y — 3 = 0 match the items in List - I with those from List - II,

DOHOCEHo _1;2 +2x+2y—-3=0 §, =de -1 worod =de -IIS°N T8 adticindw.

List-1
arda -1
A)  Vertex
250
=k

B) Focus
Y

C) Equation of the Directrix
Vo E0y DEG0

D) Equation of the Axis
wi daudbeo

The correct match 1s

BOGS TG

Options:
A B e D
i A" VI I I
A B c D
g W 1 I v
A B c D

VI Vv v I

List-1I
afae-11
1) 2r—=5=0
(3
) ;.—1
m x«-2=0
V) y+1=0
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. ' . i
The area (in sq.units) of the triangle formed by the normal to the parabola v~ =16x whose

U : .
slope 1s = with the co-ordinates axes is

—

- &

HoCHe Tenmie wf wdeondw -

b | =

j iy
0 ¥y =16x &

4
&
B4
4
i
:
b“!
L
-
Cr,
£l
"
&
%
C

RTOLO (5. gdare.ee5°)
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If the major axis of an ellipse lies on the Y-axis. its minor axis lies on the X-axis and the

length of its latus rectum is equal to — of its minor axis. then the eccentricity of that
|

ellipse 1s

w8 &%f}a@iﬂ GooB), E'ijzqgu Y-wgow, @:‘ﬁ‘jéu X-wgow o, I Trdeoono FEY

2 :
EAEes” TBodts SErSTsHH, © YD oY, &F 088

Options:
3

2

1.

b3
[

DJ|M.

v |G
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2 2
, ;s X v
If v =x + ¢ is a normal to the ellipse = # ? =1, thenc’ =

% .3

L M T— 1—: = o, ¥ gnd AT ER RO Y 1:I’=
by 5ygo 25+ - 18§ y=x+cef edooaly wond, oy ¢
Options:

128

17
L

Rl

, 128
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The area (in sq. units) of the quadrilateral formed by the four common tangents drawn to

2 2 2 2
: Y. X
the two hyperbolas —w—=5=1and — ~z =1 (a=h)is
a a

3 ta g
X ¥ 1 X : . "
=1 H0ae “r—og=1 (a>b) o3 Tod wdITSochinot A Tourh

i i

a

&8 NHPpod 03 Hehdgedn Q) ITogo (S chardises”)

Options:

g | 3
Y

2(a* - %)

L-2

a’ —b?

; V2

a’® —b*
4, 2

Question Number : 59 Question Id : 1874634539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The direction cosines of the line which is perpendicular to the lines with direction cosines
proportional to (1. -2.-2) and (0. 2. 1) are

(1, -2.-2).(0. 2, 1) & edrdos” o 65508 05 Dot dnody vowomr &)
JU¢0p Dws), HEF Do

Options:



% w3
C S
l.
B
A B
r R
. 3 373
A
43 27 =

Question Number : 60 Question Id : 1874634540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of lines passing through (0. 0. 0) and making an angle of 45° with each of the
three co-ordinate axes is

(0. 0, 0) Dot HomFér Srd J6rsE vgod® PRETIS S 45° oo T Opo
éumg
Options:

L B

Question Number : 61 Question Id : 1874634541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the plane which passes through the point (2. 5. —8) and perpendicular to
each of the planes 2x —3v+4-+1=0and4x+y-22+6=01s

(2. 5. —8) DotoPior FSr, 2x — 3y +4z+1=05805%0 dx + v 22+ 6=0

dodned® HATrIs vono ol d00 Jhidno

Options:



x4+ 10y +Z+4=0
1

x+t2p+2z+4=0

~

3x+2y+27=4

. x+10v+7-—-4=0
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. ( ;r]
S| X ——
6

Ilm ——= =

xs2 w3

—CO5X

Options:

1. A

[

b | —
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(cosx— 1)(c05x—ex)

The positive integer # for which him exists and 1s finite. 1s

x—0 1—”
X
(cosx—l)(cnsx—e } )
lim HINEJ, w8 HdNEDHMgothd IOS FSYToto n
x—0 P - e )
Options:

4



k-2
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X
If f(x)= ||#|df. x=~1.then
1
. X
xz—18 f(x)= [ r|dr @ond, WDy
e

Options:
f1s continuous at x = 0 but /' is not continuous.

=054 f&sﬂﬂdxﬁu_ 50 f’@ﬁﬂ&&’ﬁu 5°¢5

both fand /" are continuous for all x = —1

@) X > —1 ot fobdin oo Bodr edHdbo

f1s continuous for x = —1 but /' is not continuous.

x>-18 f@ﬂf@;a}lo* 5N f’&eﬁﬂ&;}io ol n)

fand f" are differentiable at x=10

X =055 fHdchn ffen adodcihsn
]
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If.:u;:Sinh_ [102(1+\/_ﬂ Then e

-.T= Sin/ ™! [lﬂg(l—% \{TH @008, WD @ =

dx

Options:

2(_1=+ﬁ)51'1ﬂ1x

2w {145

L2

.2(_1'1-»\"}_')1:05111'

.2(_1:' + ﬁ)lﬂg(l-l— \/;)
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If fix)= (ij]}sinx m1d'f’{x} = f(x) g(x), then'g’(x] =

e logx

(7x+1)sinx

SR o f7(x) = £(x) g(x) wousd, ety g'(x)=
e logx )
Options:
I 1 > 49
3 + = —COSeC X — :
| Xlogx (xlogx)” (7x+1)
] 1 3 49
3 ;.2 —cosec x — 5
. x"logx  logx (7x+1)
i X ) 49
7t ~=CO%EE X — .
(xlogx)” logx (7x+1)°



1 1 ) 19
- - >+ cosecx + 5
) x“logx (xlogx) (7x+1)
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Cos X 1 0 2
A
If f(x)=—| 1 2cosx 1 |.then i {:
< o
0 1 2cosx
COS X 1 0 o
1 j2
flx)==| 1 2cosx 1 . g d {:
0 1 2cos X ax
Options:
cos3x

-CDS(}T—L- 3x)
sin 3x
.5i11{3r+ 3x)
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The angle between the curves 3 i 8(x+4)and .1‘2 =24(4—x)1s

2

j‘z = 8(x +4) 0dcinw v =24(4 —x) e JF O ﬁzﬁg%ﬂmu

Options:



| N

NEN
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The function f(x)= 1% forx>0. 1s

x>08, filx)= 1}{’ 03 oo
Options:
increasing in (1. o)

(1. o0) &° w8 Sre0 (Do

decreasing i (1. o)

i

(1, o) &° i SHoho

increasing in (1. e) and decreasing in (e. oo)

(1. &) &5° w65 SHo00%w (e, ) §° viI&iren Pioho

3.

decreasing in (1. €) and increasing in (e. oo)

(1. ) &* widSm S0cdw (e. ) &° w'do PIroho
4
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Let f: {U. %:l — R be given by f(x)=x(x—1)(x—2). The value ‘c’. when Lagrange’s

mean-value theorem is applied for f(x). 1s

f:[ﬁ. %:l% R f(x)=x(x—1)(x—2) ™ R GHF 0. f(x) 8 Gmrod g deod

?}Q{“ﬂ;u@?{l}i 8503359 uﬂ}f}”-’jc‘é.‘l. o7 e

Options
21
6
.
E
.6
21
3 6
21
1+
4
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.
: - ; 1. ;
If a tangent to the ellipse —+ b—z =1(a > »> 0) having slope 3 is a normal to the circle
a”
x* 437 4 2x+ 2y +1=0. then the maximum value of @b is

2 s ;
"—,,+;_j= 1(a>b>0) o3 6F5EIE — o0 $9S o8 SYGB», 17+ 17 +2x+2y+1=0
o =

==

.

)

@3 T8 wdhooely wand, ab BwE), H0L Dend

Options:
2

=
e |

1.
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+ sin® x—cos® x

7 ——dx=
“1—2sm~ a+2s1mn x

Options:

;
——smly+c
! 2

—sim 2y +c
2,

—sm 2y +c
3

sin2x+c
4.
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9

12
2x 7+ 5x
[ dx =

1+ +1 p
( '

Options:

_‘(3

j+C

(1+ © + 1‘5)
1.



—+¢
(142 +°)
10
i g
2(1+1‘3+x5)
3.
:&'3
— +c
2(14—1‘34—.1'3)
4.
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2 2
X +eosXx

- : (=
‘[[1+ .x":"Jsinj.r :

Options:

cotx + Tan_lx—l— C

cotx —Tan_lx+ C

[

—cotx+ Tan_lx +c

—cotx — Tau_lx +¢
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IfL, = [sin”:rf dx forn=1.2.3. ... then § Le+7(1,—1)-6 1=

>

n=1.2.3...0% I, = [sin"x dx ©oxd g Ig+7(1,-I5)—6I;=

Options:

—sin®x cosx(l+sinx) +c
1.



- B = 5
Sl X COSX+SIN X COSX +C

o]

.—51'11?_1 cosx(l—sinx) +¢

—CDS? X sInx {1+CDS.“I{) o o
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PSR e
lim G =
fl—yea i

Options:
1
2

!._:l
O |
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Leta>1and b= 1.If f(7) 1s a periodic function of period T and

[ fdt=k [ a™ f(t)dr . then k=

a=>1,b>1wd8cd f(f) o386 'T 550 05 usbd Boctodn Sobasw

i

' T
[:a—f” Fdt=k jﬁ a P f(H)dt wond, k=

>

Options:



bT

, T+1

—bT

ﬁ_bT +1

L2

5T

|

BT
BT _4
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The area (in sq.units) enclosed by the curves vy =sinx+cosx and v = |c05 X —sin x| over

; 7| ..
the interval U.: 15

=

eoddo | 0, 5|2 $F"e0 y=sinx+cosx 000Dy ¥ =|cosx —sin x| ©& HBLEI0N HETo

Qwg ITeso (H.05rdde")

Options:

44242

l
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The degree and order respectively of the differential equation of the family of the curves

represented by y =, ’c ( x++/c ] are

(Here ¢ is a parameter)

y= C(I-I-\.E) B drdoded Ji5Te Lotnond) wided daidoo G0 B6ME, S0dormo
BB

(28,8 caf JT8)

Options:

1.3
1.

2:3
2

31
3.

2.2
4.
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x+y—=1 dy x+y+l1

The solution of the differential equation —
x+y—-2dx x+y+2

. given that v=1 when

x=1:1s

x+y-ldy x+y+l

= 1 wonddyd v=10doginod vitod SwEdno — =
= x+y—2dx x+y+2

Gt

FEI
Op_tions:
(:r+_1-')3—2
2(y—x)+logh——L =0
2
1.
(1+_1']3—2‘ 2
log ‘2[1—.1‘}

o]



[x+ .1-')2 -2

(x—y)+log
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Question Number : 81 Question Id : 1874634561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

If “A’ represents density. ‘B’ represents velocity. *C’ represents specific heat capacity and
‘D’ represents wavelength. then the quantity having the dimensions of product of

A B.CandDis

‘A’ FoBdssn, ‘B’ Bk, CTDITY FrdoggRunin Bobod DY Q‘Eduﬁa%a‘}mrﬂ} S AN
(e a

.- ]

A B CXbcino De e.:ed-m ':fméir olg8oe3 e TR

Options:
Stefan’s constant

WD w000
o A0 *

Boltzmann constant

o5*

gl

)00 %O"—‘ugu

Thermal conductivity

i ”’g Eﬁéﬂ”‘gu

Universal gas constant

TEUBE Troin PTG
Fish
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A ball dropped from a building of height 12 m falls on a slab of 1 m height from the ground
and makes a perfect elastic collision. Later the ball falls on a wooden table of height 0.5 m.
makes inelastic collision and falls on the ground. If the coefficient of restitution between
the ball and the table 1s 0.5. then the velocity of the ball while touching the ground is about

(Acceleration due to gravity = 10 ms™)

12 m Jdéfie 00 od =8 JEGU2ES wE 208 drdd wod 1 m Jdiie &3&@}3 a3,

“Snf}”’@"*g %@%f}ﬁ edarddn 2badb. e“.»sr::jge:a’ 0.5 m I8y Eﬁéﬂ,ag DS HE @%@i{r—'ﬁﬁé
wPordo win grdvyn D600, wods, wER Wiy REGaTY ese 0.5 wond wod
draod eBbd s ooy (hhés sidoo = 10 ms ™)

Options:

15.5 1115_1
1.

14.5 1115._l

o]

92ms
3.

8.2 ms
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Two food packets are thrown with same velocity in the same direction with different angles
of projection simultaneously. The angle of projection of one packet 1s 15°. At the same
moment one boy starts running from rest from the point of projection with an acceleration
of 10 ms™ to catch them. If he caught one packet at a distance of 20 m and other packet
in lﬁ» later the first packet. then the angle of projection of the second packet is

2

(Acceleration due to gravity = 10 ms™)

28 Jfod’, a8 BIS® INAD B8 Fworod Dol Iy Firosn BP0 JH0TW. o8
L0 (283 S’ 15° ob dSodios” el arand 10 ms™ Scd0d TE HiRE bt
@85 oo ool J0Agdo @lodouadn. © ek wf Tind) 20 m SPrgHRnes”

1 _
5005w Bokd Q) WSS TR Sogd =5 K Hikod, BodS Fyo KEY Frbn

(8285 SeSvo = 10 ms™)

Options:
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Abody is projected up a smooth inclined plane of length 204/2 m from point A as shown in

the figure. The top (B) of the inclined plane is connected to a well of diameter 40 m. If the
body just manages to cross the well then the velocity of projection is

(Acceleration due to gravity = 10 ms™)

2{}\5111 PEY o Hod §rd Tres godnD Adothd) Dobd w8 SHYD D8 DHdrdos®
SRt (@820 Do, Tevdeoo ES (B) 40m TR0 (o wE rdb SH00Uadsb.
5509 ed voeodh ehdr TLIBIG) o0 ©BEY 3o

(fad2e8g Scdmeo = 10 ms™)

40m

Options:

40 1115_1
L.

. .4011’5 ms!

20 ms™!
3
. .EU-\E ms ™
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A body is acted on by a force given by F=(15+3 fz_) N. The impulse received by the body
during the first 2 seconds 1s

2§ 309D wosn F= (15 + 3) N 533c08)d. 3068 ok DESes” 529
©oBIEH) HIEBI0

Options:



| 28 Ns
38 Ns
30 Ns
3

19 Ns
4
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A body starts sliding down from the top of an inclined plane inclined at an angle 8 with
horizontal. The first one third of the incline 1s smooth. the next one third has coefficient of

s R i ' e i
friction — and the last one third has coefficient of friction . If the body comes to rest at

-

the bottom of the plane then the value of 1 1s

u =

d)"-"j\.‘]rﬂ&. & Trendec f.ﬁ_‘u.)ég,
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A motor pumps a iquid of density p through a pipe of cross sectional area A. If the liquud
moves with a speed v in this pipe. then the rate of kinetic energy imparted to the liquid 1s
proportional to

28 i, pFo@idio Gord) Awds'd Irogoio Tios 08 Doboh Bod. & Tiyos®
BH0 VIS Shendrod (BHos% RS ez 80t &8 wdhIrEod’ &otnod.
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Two particles 1 and 2 are allowed to descend on two frictionless chords OP and OQ as
shown in figure. The ratio of the speeds of the particles 1 and 2 respectively when they
reach the circumference is

HL0S* SrdBin ok Smives 1 50005» 2 o ENBI Dok wrHEGSes OP
500050 0Q© D& EITNG. ¥ © S)F H0H Dokt BOSHYE eodn 1506050 2 ©
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A uniform rod of mass ‘m’ and length */” 1s pivoted smoothly at ‘O’ as shown in figure. If a
horizontal force “F” acts at the bottom of the rod and ‘@’ is the angular velocity of the rod
which is a function of angle of rotation *0°. then the maximum angular displacement of the
rod is

(Acceleration due to gravity = g)

DoS® Srbitor ‘m’ (GSgorE Hobotn I FdPHHe ef 68 8D ‘O 5G oD
Soko Diowd. 5% edoly griidn H§ w8 §8z JS5rodd wwo F H0TISLH0NS,
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An electric motor of power 75 W rotates a flywheel of moment of inertia 0.36 kg m’ at a
constant rate of 100 rad s~ If the power is switched off. the time taken for the wheel to
come to rest is

75W éﬁﬁagguﬁm .8 dhogd Irirdo 0.36 kg 11123353@*5 lBroBo e o N8 Fos Ko
100rads™ 2IBLE" HOE0 BoBbty BalnhHd. DExgd BIT W, diFo ITHPSS
WIS VIS VERSINS OIS
Options:

.
128

5 24 s
36 s

48 s

Question Number : 91 Question Id : 1874634571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A particle is executing simple harmonic motion along a straight line PQ. At three points A.
B and C on the line PQ. lying on one side of the mean position. the velocities of the particle
are 8 ms™. 7 ms ™ and 4 ms! respectively. IFAB = BC = 1 m. the velocity of the particle at

mearn position 1s

o8 B0 ol J8¢0w PQ Ioad D¢ ﬁ"ﬂ"*éﬁéﬁ L0 ﬁmai:@a. PQ 3&:‘:‘3 ﬁmdg&:é
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Single Line Question Option : No Option Orientation : Vertical

The gravitational potential difference between the surface of a planet and a pomnt 20 m
aboveitis 167 kg_l. The workdone i moving a 4 kg body by 8 m on a slope of 60° from the

horizontal 1s

&b (70 GwE), Ga0dorib Sobodn wrad 20m wa Ao &l Doyt Sudy tods §5)
PS50 16 T kg wond §8z d5rosdo H008 60° © sreodd 4kg o 5% 8m
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5 . ] ; 9 2 2 ;
The area of cross-section of steel wire 1s 0.1 cm” and Young’s modulus of steel is

2 % 104 N m™. The force required to stretch by 0.1% of its length 1s

8 &8y, 8K Boog), wHhES Jrego 0.1 cm’ 5850 w8y, ahoh Mo 2x10M Nm™
wond T FEIS’ 0.1% FHdoi widdhdy oo

Options:
| 1000 N
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A sphere of radius R has a concentric spherical cavity of radius 7. The relative density of
the maternal of the sphere is G. It just floats when placed in tank full of water. The value

of — 1s
5
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Figure shows a system of two concentric spheres of radii 77, and ., at temperatures T, and
T, respectively. The radial rate of flow of heat in a substance filled between the two

concentric spheres is proportional to
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A composite bar of uniform cross section is made of 25 cm of Copper. 10 cm of Nickel
and 15 cm of Aluminium with perfect thermal contacts. The free copper end of the rod is at
100 °C and the free Aluminium end is at 0 °C. If K, =2 K, and K, = 3 K. then the

temperatures of Cu-Ni and Ni-Al junctions are respectively

(Assume no loss of heat occurs from the sides of the rod. K-thermal conductivity)

2868 Soodofe wE ééﬂj 25 cm &P ooh, 10 cm FéHdie O8O, 15 cm FéJHhe
worgIcos® SolrdHieTd. §§ Bwg oon ‘5’@55535‘:6 100 °C 5¢ eeorgdodaio
?}51335’5’} 0°C 3& 93D, Ky =2 Ky dodadn Ky =3 Ky wond Cu-Ni S0d, Ni-Al
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Options:
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The specific heat capacities of three liquids A. B and C are in the ratio 1:2:3 and the masses
of the liquuds are in the ratio 1:1:1. The temperatures of the liquids A. B and C are 15 °C.
30°C and 45 °C respectively. Then match the resultant temperature of the mixture given in
list-IT with the corresponding mixture given in list-1,

A, B S08cin C el Sard Gaoe QITQ @ﬁﬁ:}c{g‘gtﬁ Qg 1:2:3 Hbciw |Gare |Bagorde
g Ll A B wboin Cidare eiides dddm 15 °C, 30 °C 20bodwn 45 °C. a0d

List-1 List-1I
rder - 1 e - II
A)  Mixture of iquds Aand B N 25°0
A 58050 B @are daFso
B) Mixture of liquids Band C I 35°%C
B 505 C S doFHo
C) Mixture of iquuds Cand A ) 37.5°C
C H008cin ABare d@so
D) Mixture of liqmuds A. Band C IV) 39°C

A.B $0805n C @ae doEsoo

The correct answer 1s
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A gas (y = 1.5) undergoes a cycle of adiabatic. 1sobaric and 1sochoric processes in an
order. If the volume of the gas 1s doubled in the adiabatic process then the efficiency of the
cycle 1s approximately

28 30509 (y=1.5) a8 SBoRSrdos’ SEHJM PEHE, SHHES DO HJHEHOSFD
BEaHos S'EYHHB. PEHE BEoDS® © TP WIHOSIRI0 2 Dy v &
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Options:
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The y-components of velocities of the molecules of a gas are

—7.-6.-5.—4.-3.-2.-1. 0. +1. +2. +3. +4. +5. +6. +7 ms™! then the rms velocity is

2.6 Jrodn BPe DO V- woFen
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A metal wire of length 80 cm. area of cross-section 3 mm? and material density 3000 kg m = is
joined to another metal wire of length 60 cm. area of cross-section 1 mm” and material
density 9000 kg m™>. The free ends of the two wires are stretched between two rigid supports
and a tension of 40 N is produced in the wires. The minimum frequency of the tuning fork

which can produce stationary waves with the joint of the wires as a node 1s

80 cm &), 3 11]111253.3:555&{5 STogo So0ukn 3000 kg 111_3”5::5.*:"5; Fol3S Ko el FEH
8o 60 cm @69, 1 mm BogH)E Frego 8sw 9000 kg m™ I ol Ko HE
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Options:
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A source producing sound of frequency 720 Hz 1s falling treely from the top of a tower of

height 20 m. The frequency of sound heard by an observer on the top of the tower when the
source just reaches the ground is

(Acceleration due to gravity = 10 ms ™ and speed of sound in air = 340 1115_1)

20m I8 o8 3p8op $od 720 Hz S50 o derd) 88 T%8) o adbo ugiym
BobE BB, wdto Joss EBITyE, WP &) uf BolotE I3 o EE,
@“A’sz@rﬂgu

(Hochds Sedmo = 10 ms™, mde* $5d 56 = 340 ms™)
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In a spherical glass marble of radius 6 cm. a small air bubble i1s formed at 1 cm from the

centre of the marble. The apparent position of the air bubble from the nearest point on the
surface of the marble is about

(Refractive index of glass is 1.5)

6 cmﬁ‘*gﬁ.‘ﬂgu Ko Fesd mer (F9) Sodo Sod 1 cmErdoes® md endi Déﬂ&é&. e
GH0Sw0 8 D BrEDonY Hod mOndH d&%g%‘éﬁﬁﬂ D3 BFEIT
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In Young's double slit experiment. the two slits are separated by 0.5 cm and the screen is at

0.5 m from the slits. If 20000 bright fringes are counted per meter on the screen. then the
wavelength of light used is

cio0f 2od DOS° PRrHS” Dot VOSL Bogig Srdio 0.5 cm Hodoin VO Sod BY
Grddn 0.5 m. B Hods 20000 cogdkoch HGui B oTd. wund GIRFHoDS
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Options:
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A dipole has two charges +1 pC and —1 puC and each of mass 1 kg. The separation between
the charges is 1 m. An electric field 20 10° Vi is applied on the dipole. If the dipole 1s
deflected through 2° from equilibrium position. then the time taken by it to come to
equilibrium position again is

&8 Dogd DeanBdw Kok +1 nuC, -1 puC wIddnes w8588 1kg \BRgT 20 BON ).

o8 oy Gorddw 1 m. 20 10° Vm_lﬁ&ge? B Fog” & égﬁ;@&& éﬁ:@%}ﬁ 008
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Question Number : 105 Question Id : 1874634585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. Inthe following four cases. charged particles are at equal distances from the origin. Arrange
them in the descending order of magnitude of the net electric field at the orign.

Bod orenih éu{.’:cr;ueﬁ* DT IE Seren Drodotdy) Dod Dird Sroodt eHo.
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A capacitance of 2 UF 1s required in an electrical circuit across a potential of 1.0 kV. A
large number of 1 UF capacitors are available which can withstand a potential difference of
not more than 300 V. The minimum number of capacitors required to achieve this is

1.0 kV a}rﬁﬂg{.ﬁ’&@ e 5.”1&55 Seciosdo 2 pPEﬁ“?}&JJSJ w580, 300V ﬁrﬁ@lﬁé FAlals
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A charge °5 C’ 1s placed at the centre of shell of radius =3 m and having charge *5 C”. The

:
potential at a pomt — distance from the centre of the shell will be

50 eddhn do Fesd §68o Fgrgo r =3 m. 8550 Soo ¢ 5 C’ ERERSENY
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Options:
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Electrical energy costs 25 paisa per kilowatt hour. Assuming that no energy is wasted. the
cost of heating 4.6 kg of water from 25 °C to the boiling point is

QoGS ¥8 8BS S Hododo 25 den {m&J} $8 wHesod. ¥§ Jirbo T 58 o
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A 500 W heater is designed to operate at 200 V potential difference. If it is connected
across 160 V line. the heat it will produce in 20 minute is

2.8 500 W ordadosio 200V FBIGRS afale o JABSnLE Srrobowrd. HAQ 160V
Biiofo 028 (Dogrdo BR) 20 VdnTes' wd 2JodBHS R0

Options:

i 384 kJ
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A wire of length 44 cm carrying a current of 2 A is bent and the two ends are joined. This
shape 1s placed in a uniform magnetic field of 50 mT. If the magnetic field 1s in north-south
direction. then the maximum torque acting on the shape 1s

2 Addogs (D) 80haN) 44 cm rEIS wf Ehe Sod Jod Fled SOFd. &
@B 50 mT 868 waibd)od FEoS" Gourd. wdbd o FEo Ggd-tiln S
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Options:
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A toroid has a non-ferromagnetic core of mner radius 20.5 cm and outer radius 21.5 cm.
around which 4200 turns of a wire are wound. If the current m the wire 1s 10 A. the magnetic
field inside the core of the toroid is

(1, =4n x 107 Hm™)

20.5 cm wodd Egﬁ)’gu 08ciny 21.5am e:'”’mg Fgﬂ“gu e I8 e_eo:’uﬁ"&uﬁ’ éﬂ"gu 57
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Options:
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Two short bar magnets A and B are arranged coaxially. The distance between their centres is
30 cm. A compass needle placed on their axis at a distance of 6 cm from B shows no
deflection. The ratio of the magnetic moments of A and B 1s

Bot a}ég Sodcharoaros A nddin B odo S&gomr &eﬁ&ﬂt}a“d:. a8 Bore :.3;}::55
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A circular coil of area 0.1 m” having 200 turns is placed in a magnetic field of 40 T. The
plane of the coil makes 30° with the field. If the field is removed for 0.1 s then the induced

emf in the coil 1s

200 Sodw Soboiw 0.1 m’ ITogo do wf 5)Esd 88 DHid 40 T vwdhbdr)od §@os”
JoDTE. 8K thdy doo o) od FE0E 30° TRHH. wohdod e ) 0.1 s T
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Options:
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A coil has an inductance 0.7 H and it 1s joined in series with a resistance of 220 ). When ac
of 220 V. 50 Hz 1s applied to it. then wattless component in the circuit is

0.7 H (@8 o o8 8ddy 220 Q J5°¢E058 @S Sandedse. &8 220 V. 50 Hz,

ac J 0L Jdoch Hadrosd” E8R wod

Options:
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A plane electromagnetic wave propagating in a non-magnetic dielectric medium is given
by E= E, [4 107 x — 50;‘] where ‘x’ 1s in metre and ‘7* is in second. If the relative

permeability of the medium. p, = 1 then the dielectric constant of the medmum is

28 50008 HrIES® wE DdgBabIed SSolo E:Eﬂ[.:l}(l{)_?x—ﬁﬂf] o
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All electrons ejected from a metal surface by the incident light of wavelength 200 nm
can be stopped before travelling 1 m in the direction of uniform electric field of 4 NC B
The work function of the metal surface 1s

200 nm S0 Qggu fe 5708 o.¥ @*&ﬁﬁwu:@ D800 TAG0 S0 Fendds CH)) Qﬂgé&:m
ANC 65068 Desog8 § BFS® KbGom 1 m Erdods® sHEONB, & &% HQ Hocs0
Options:
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A hydrogen atom emits a photon of wavelength E;S_R when it 1s jumped from its n® excited

state to ground state. Then the quantum number # 1s
(R is Rydberg constant)

e wi Firod & IT0on0d. wwud oo 3305;)5 1 Oend
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. ' . 135 . .
Assertion (A) : Fragments produced in the fission of QEU'E’ are radioactive

Reason (R):  The fragments in the fission of 23| J havea proton to neutron ratio of 2.5

IBEG0 (A): U™ BosE 2QBS® Jenscds FEores BAR> TOESDH $0A ok,

wéoo R): U DYBS” GEF) FEow FErs, Srgers g 2.5 m €04
020,

Options:



Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) H28030 (R) 0 Bodr S0505D obosn (R) w3b (A) % 50505 I560

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) pociw (R) &0 Sodr H05ED 570 (R) @38 (A) § 20605 Jhde 5

(A) 1s correct but (R) is not correct

(A) 58630586 =0 (R) 565058 s°¢k0

(A) 1s not correct but (R) 1s correct

(A) 50058 & 50 (R) H0GBxE
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In the circuit given. the current through Zener diode is

23268 Boood, 70 Rrd ol JgE PITro

R1Z 5000

1500Q 3R, V=10V

Options:
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Coaxial cable. a widely used wire medium for transmission of signals offers a bandwidth of
approximately

Dosere PWATRE oI T8 8 Srdgino wand D5 Sawd Q) DG Ideny Ddrdr
Options:
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Single Line Question Option : No Option Orientation : Vertical

The spectral line observed at 434 nm in the Balmer series of the hydrogen spectrum
corresponds to a transition of an electron from the n™ orbit. What is the value of »?
(Rydberg constant R, = 109.677 em™)

Qﬁ:[E;E;_ N BEg S00d BOBER0 BobvYW TE RS DPHLST b @s5e5* 434 nm S
$PHe0pidh H0BO0NHT, n Jewd Jod? (0&2§ voroko Ry = 109.677 -.:111_1}

N g

Options:

3
L.



Question Number : 122 Question 1d : 1874634602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The energy of 2s orbitals of H. He and Li follow the order

H, He. Li 0&°Q 2s s8¢ 80b #8 E30°Q) wdoddarow,

i
Options:

L He<H<Li

-2

He>H=>Li

Question Number : 123 Question Id : 1874634603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

X andY are two elements which form oxides of the type XO; and Y,0; with highest oxygen
content. Identify the group numbers to which X and Y belongs

P4

X. Y o3 Bods Sorosten E‘ﬂﬂ”-_{_.} 38d5rmos” @@JES o X0, Y,0, ok E.%E‘E:Jﬁtu:‘&

A5 0DTrow. XY oo o firdod Sode e Hgouibw.

[

g

Options:

i 13, 15

16, 15

]

13, 17

16. 17

Question Number : 124 Question Id : 1874634604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

List-1 List-1I
A) [CrF 6]3_ I) sp’d” square planar
Xe sp~d. square planar
B) XeF, pd. sq pl
‘ sp-d-. square pyramii
C) PCl p°d. sq ! 1d
D) BriF; V) spid. trigonal bipyramidal

V) spadg. octahedral

w

1Bod TEQ addddhaw.

erdae -1 e - 11
A) [CrEJ™ ) spd sode SE6H
AL 5 JudJ £aE) €57 O ed
B) XeF, pd. %8s SIS
; g . WSO DI LTLET
C) PCl p’d’, SS8S S args S
D) BiF; IV) sp’d, @&'sBos Bcharamgs

, : v AT .
V) sp'd’. egsodoi

The correct answer 1s

BOES HIFTIO

Options:
A B € D

m I v Vv

A B

I~
I

=
[w3]
I
)

[
[es)
I
)

Question Number : 125 Question Id : 1874634605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the pair of species having same hybridisation for central atom but possess different

geometry

S0 Ddireand) o Jo8lEdning Gobd JNIN wHdiod FONS zréde o
fwBodod.
Options:

+
CH,.NH,
1.

L2

PF.. IF
PCL.. CIF,

Question Number : 126 Question Id : 1874634606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At T(K). a hypothetical gas consisting of 100 melecules has the following distribution of
velocities. (N = Number of molecules: V = velocity in cm 5-_1) ;

T(K) :’j&i 100 weooipen e o8 éﬁ&?“‘e‘ﬁéﬁ Ta0HE0 18od Ire Hodes Sed.
(N = esdo dopg V= 3o cm s o),

N Vv
2 4x10°
2 4 % 108
10 3«10
20 5.5 x 10°
25 4% 10°
35 6.8 x 10°
6 2 % 107

The most probable velocity (in cm s7) for this gas is

& TSNS HOH Boursyd Ko (cm s o)

Options:



4 % 103

4 % 108

6.8 x 10°

2 x 107

che

Question Number : 127 Question Id : 1874634607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

4.90 g of impure potassium chlorate on heating shows a weight loss of 0.384 g. What
percent of the impure potassium chlorate has decomposed?

g © ©H0BG Firtaodo E%&Jn.b SonddHd 0384 g o @rdigo =0hob. Jod
&' @H0DE Firuciio FOE I@rNo Boboh?

Lea

-3
[
=

; 40

80

Question Number : 128 Question Id : 1874634608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The standard molar enthalpy of vaporisation of benzene A pH at 353K is 30.8 kJ mol .
If the benzene vapours behave as an 1deal gas. the change in internal energy of vaporisation
of 78 g of benzene at 353 K in kJ mol™ is

(1 L-atm = 101.32 J)

353 h;ﬁ Boda Pire 3Irod z.r“?qgs;f;ﬁ;’.} Qui}i‘-‘g}n AWPHD 30.8 kJ mol™., Zos5
oo 353 K 58 ©68) Tahodm ©35000% 78 g BodS eriness wos8s F8s* Srdy
kJ mol &¢5* (1 L-atm = 101.32J)

Options:



37.87

27.87
33.74

o 1787

Question Number : 129 Question Id : 1874634609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
in the equilibrium reaction

The equilibrium partial pressures of CO(y): €Oy
.E{lel:gz| +C = 2C0O, at 1000 K are 0.66 and 0.15 bar respectively. The equilibrium

constant K_approximately is

1000 K 58 'COy)+Cg5) = 2C0 ) $508°58 58 CO,). COpy

ot

S84 0.66. 0.15 bar ey mond Eﬁ&@ﬁ‘{gﬁ igcr*oéu Kf&;.“i}vcbﬂ"

Options:

i 03

290

o]

Question Number : 130 Question Id : 1874634610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
20 mL of 0.2 M sodmim hydroxide solution is added to 40 mL of 0.2 M acetic acid solution.

‘What is the pH of the solution? (pKa of CH;COOH =4.8)

20mL © 0.2 M &&cSo0 @86 1o78e07Q) 40 mL © 0.2 M 088 e |05 08
Bodadod. @dwo pH Jood Jo&? (CH;COOH &g, pKadeod =4.8)

Options:

2
. A



4.8

L2

8.4

Question Number : 131 Question Id : 1874634611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In acidic medium. aqueous potassinm permanganate with hydrogen peroxide gives

el drdfed” Firhdibo HTOMRS zoEine TE R DUFESE RS

Options:
M. H,

Mn?*. O,

r

13

Mn™" H,

Question Number : 132 Question Id : 1874634612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following metal ions form the stable super oxide?

Bod &% edirds® 26 20 200 e§G JyhThd?

e

Options:
-t
L

Mgt

b

Na"



Question Number : 133 Question Id : 1874634613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The product/s formed when borax dissolves in water is/are

S°0°E) DBS* EBNSY Iy Esradgo / (ol argen
Options:

| NaOH. H;BO;

Na, [B, O, (OH),]

NaH.B,0,

B, H,. NaOH

Question Number : 134 Question 1d : 1874634614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement.
QOGN DdGe Mfodod.
Options:
Non-directional covalent bonds are present throughout the crystal lattice of diamond.

Q;ﬁuué K}J&Eﬁé areBoodir elTd 18 SHNdGEraold DoTenodIon.

Fullerenes are the pure forms of carbon

Dedan TG DEZS Grareo

C—C bond length in the layer of graphite 1s 154 pm
w2 FES° C-C wodBdggo 154 pm

Carbon monoxide 1s a water soluble gas

58y “J‘Eﬂj& QS* B araiod)

Question Number : 135 Question Id : 1874634615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The concentration of fluoride ions in drinking water upto 1 ppm make the enamel on teeth
much harder by converting X into fluorapatite. What 1s X?

Fhwdes o6 ewdree mES 1 ppm S35 &Hvd ob X FEISBGT S0 S6HP
fie darandedy ﬁ&gﬁdﬁa}nofh. X 050858 267

Options:

[3Ca3(PO,), - Cab, |

[ECaj[PU,;)E 'Ca(OH]Q]

-2

[3Ca(OH), -Ca; (PO,), |

[ Ca;(POy), - 3CaF, |

Question Number : 136 Question Id : 1874634616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Nitrogen. sulphur and phosphorus present in organic compounds are detected by the
formation of which of the following coloured substances respectively.

éd;l}‘é K}ﬁé@.‘éu@*{& E[@Tz}& ?G{“.::jﬁ S8 a0 .i)"é;jdc"_atnéf)& Stsm 8ob @ Soih ‘S:u:r-‘q;t:lr‘fn
béﬁdfﬁcﬁu ayen ﬁ&?ﬁu:ﬁé&&.

Options:
Fe,[Fe(CN)g]s. [Fe(CN) SI'~ZC?S]4_. (NH4);PO,-12MoO,
Prussian blue Violet Yellow
9% 55 oy S0 Goihd S PSLTS)

1.
Fe,[Fe(CN)]s. [Fe( SCN)]E_. (NH,);PO,-12Mo0O,
Prussian blue Blood red Violet

| ©%S ar 553 Sotk> & Sorkd



[Fe(CN) ™. [Fe(SCN)T™ (NH,),PO,-12MoO,

Blue Blood red Yellow

, R0 Soid 555 Boikd HB0%)
[Fe(CN)J*. [Fe(CN).NOS]*. (NH,),PO,-12Mo0,
Blue Violet Black

) DO Boik ST B0l Se0d)

Question Number : 137 Question Id : 1874634617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of electrophiles and nucleophiles present in the species given below are
respectively.

Bod 25068 o, QE@E@& ociw Argddrpde Jopgen SWIM

+
BE;. CO,. Me;N. SO;. CH;3CO., HS™, NO} . FeCl;, H,0

Options:

{ 1058

3.6

~

5 4.5

5.4
4.

Question Number : 138 Question Id : 1874634618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What is D in the following reaction sequence?

. / && HC }
Hol™ /HT
O / C

H,0: 333K

Options:

O O

Question Number : 139 Question Id : 1874634619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following reactions alkane is not foried?

Bob o UIE* WB)S JBYEL?

Options:
. : Na/
CH;B1 i

@::PE =Tt



NaOH/Ca0O

CH;COONa % 4
' , HO |
CH;COONa =
E&é%ﬁﬁma
3
ale KOH/A

Mej'&ﬁﬂ-ﬁ

b

BrCH, — CH,Br

Question Number : 140 Question Id : 1874634620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An element forms a body centered cubic (bec) lattice with edge length of 300 pm. If the
density of the element is 7.2 g cm™. the number of atoms present in 324 g of it
approximately 1s

o8 Surofo wodEodd udo (bec) wol >dH 300 pm Ko o) IGHH06.
# —3 o " - . o
@ Sorobo rod 7.2 gon  wons 324 g 08 &) S0rMPO Doy Q0arEIT
Options:
2
3.33 x 107

Question Number : 141 Question 1d : 1874634621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



An ideal solution of hexane and heptane at 30 °C has a vapour pressure of 95 bar with
hexane mole fraction 0.305. In vapour phase hexane mole fraction 1s 0.555. The vapour
pressures of pure hexane and heptane at 30 °C respectively in bar are

30 °C 5 0.305 TS 3rS rod WHS, HS wsd) Edme wiybEso 95 bar,
TIPS TS Irdgrdo 0.555. 30 °C 58 D4 TEE, WA @rdyedaron
5835 bar o&®

Options:

; 172.9, 60.9

60.8. 172.9

30.4. 86.5

86.5. 304

Question Number : 142 Question Id : 1874634622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The vapour pressure of a solution (b) as a function of temperature (a) is plotted as a graph
for two solutions of same molar concentration along with water as shown below. A. B and
C are respectively.

QBE T dIrd JIrerd mEden do Tok Eiore ﬂ‘ﬁ&ﬁ)éﬁ-&l (b) & &Fie (a)
Baobomr, Bod QS G0 e AP, A, B Hodoin Ceo S6Sm

b

M

Options:



H,NCONH,. H,0. NaCl

H,0. H,NCONH,. NaCl
NaCl, H,0. H,NCONH,

NaCl. H,NCONH,. H,0

Question Number : 143 Question Id : 1874634623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If EEE.H 1s 1.05 V. the emf of the cell for the following cell reaction

Ni(s)+2Ag" (0.004M)—— Ni** (0.16 M) + 2Ag(s) at 298 K in V is

Ego 1.05 V wons §ob dodressgsd

AT

'Ni(;;ﬁ.:)+ 2Ag*(0.004M) —— Ni** (0.16 M) +2Ag(s) 298 K 5¢ $otso emf V o

Options:
;| 0.932

Question Number : 144 Question Id : 1874634624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is not the correct statement with respect to order of a reaction?

STty Edrogodsy dowohod ol TES 28 DBS DB TE?

Options:



order can be determined experimentally.

EEFobo BRAPKIEEoT dFanns.

order of reaction 1s equal to sum of the powers of concentration terms in differential
form of rate law.
PTEE Grdodil Bl Ichnod” MESHTY wretore Jndgo WogEiros s

AFH0.

o

order does not change with change of pressure or temperature.

e e ST wdSo SrENE (Edrofo Srddh.

order cannot be fractional.

Brob0 Joud ATosom otk

Question Number : 145 Question Id : 1874634625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

300 mL of gold sol 1s mixed with 30 mL of 10% NaCl solution. The mass of Haemoglobin
in mg required to protect the gold sol from coagulation is (gold number of Haemoglobin
is 0.03)

300 mL e ﬁ“eg#@'ﬁu 30 mL & 10% NaCl G 5erd) B0, & ﬁ*gaﬂé;{u STRCIaPaFtY
o H0CBodaod Ef}ﬁéﬁscﬁcg 33*5?5}5)5 @5:.550**-%‘ mg &&* {&“Eaﬁﬁﬁé ﬁig Fﬁlue.‘pg

0.03)
Options:
i 0.3

13

0.09

0.03

0.9

Question Number : 146 Question Id : 1874634626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In froth-floatation process what is the depressant used in the separation of sulphide ores of
Zinc and Lead?

D58 BB HFBS” Lo§ Hoddin Bho BTG Swdpldwrol IDBoLES” GEBriod
Q5570 JB?

Options:
| NaCl

Na,CO,

L2

NaCN

Na,SO,

Question Number : 147 Question Id : 1874634627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following oxyacids ot phosphorous. one P=0. two P—H and one P—- OH
bonds are present.

Bod adgeds Tl Sy, 2 whedos® af P=0, Sod P—H oo w8 P-OH

&

20T odIma.

Options:

Phosphonic acid

B =330
L. @3 e

Phosphinic acid

g e300

7, ¥ "
Orthophosphoric acid

3 @5‘@?@355 w500



Pyrophosphoric acid

E._:-Ss é‘iﬁ&ﬂg 35500
4.

Question Number : 148 Question Id : 1874634628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the reaction n which SO, is not formed?

SO, J8)ED BEgd B ohSw.

Options:

Na,S0,(aq) +dil H,80, —

: Na,S0;(ze)+285 H,S0, ——

5+0, (01')3&%

$40, (Bo)mo—_Sodes®

]

S+ conc. HESO4 —

2NaCl+H,S0, ——

Question Number : 149 Question Id ;: 1874634629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following reactions oxygen gas 1s not formed?

a

Bob Sdgud’ BAcod wiEs JTroin :Jfﬁgé.&‘?

Options:
| XeF, +O0.F,—

XeF, +H,0——

"

XeF; + H,0——
3.



4 Xek, +H,0——

Question Number : 150 Question Id : 1874634630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The magnetic moment of which of the following complexes 1s maximum?

Bob JogTod a0 Bk, waH)od grdoso 0a0?

Options:
[ Co(NH;) ﬁT+

[ Ni(ceN), |
. [CoRs ]

) [NicL |

Question Number : 151 Question Id : 1874634631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A metal ion (M™) forms octahedral [ML]"" and tetrahedral [ML 4]“+ complexes with same

ligand at different e‘f;perimenta] conditions. The Ay of [ML]™ is 3 eV. What is the energy
m eV of e, orbital of [ML,]"" complex?

of &% wdird (M™) egsodah [ML]Y So6ck0 Bigrm@gs [ML,J" Sogdress o8
Orob S DI PR HOYPe S L‘Jdgdun::‘;u&. [MLJ" @w& Aydend 3 eV. [ML,]"
ROBGN00 TR0k, eg@ﬁﬂ@@ 78 eV od® Joé?

_D

Options:
4

. 9

4
5

N



Question Number : 152 Question Id : 1874634632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The catalyst triethyl aluminium and titanmm tetrachloride finds use in the formation of the
polymer

S 236 worgdchd $8okn Birdchd 586 ol ¢@ 0o & FODE A dbods’
%ﬁ@&“ﬁ?ﬂ §e§ & otnod. -
Options:

Teflon

EQ"E

Low density polythene

sy FoEd FOES

Polyacrylonitrile
FOIFS'IBS

High density polythene
wHE Fodd FOHS

Question Number : 153 Question Id : 1874634633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.
List-1 List-1I

A)  Ascorbic acid I) Rickets
B) VitaminD M) Muscular weakness
C) VitaminB, ) Convulsions
D) VitammE IV) Amla
V) Beri beri
Bod T8 2dHthaw.
ardar -1 e - 11
A) eHF wdo ) 88
B) 2ol D M) Zodore oo s
C) dbs By ) Seeoso &io
D) 2L E IV) 400
V) D636

The correct answer is
WOGHH dDirprio

Options:

A B £

|w,

I Iv @I I

=
|
[
IS

=
|
[
IS

=
|
[p!
lw

Question Number : 154 Question Id : 1874634634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct pairs from the following.

I) Sodmumbenzoate Antioxidant
II) Sodium stearate Soap
II) Sodnun lauryl sulphate Antiseptic
IV) Alitame Artificial sweetner
Bod ord&” J0g3n ade wiodod
) &dciar DoE GdS dbrodd esdyEsed
I ®&chS Hawds 560y
M) FGohdd &8s B SrotivRE
IV) @d&s 5% 8L 52680
Options:
LIV
1.
p !
mLIv
3.
" IL I

Question Number : 155 Question Id : 1874634635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of monochlorederivatives possible. when 2. 2-Dimethylpropane reacts with

Chlorine in the presence of UV-light is

UV-508 dgos” 2. 2-30088 [Fan 5086 &dgSobddyd dodhy IrJ'ss adoe

&2

Options:

4
1.



Question Number : 156 Question Id : 1874634636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the following sequence of reactions identify the functional groups present in the
resulting compound Y.

Bod dorgEdoos” Dd&ﬁ Dangdo Y 5080 pibah ddorSte sy MBohdmn.

H,0O 1) CHCly/aq.NaOH
CHN,Cl—L X ) 37 Y
i 283K i) H;O*

Options:

-Cl, —ﬁ—C‘H3

0

l.

—OH. -C=0
2 H

O i|C‘ =0

OH

3.

—Cl, —0~-C-CH;
O

Question Number : 157 Question Id : 1874634637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct set of reagents (X. Y. Z) required to convert benzene to m-nitrobenzoic acid are
ToEd ol JEBoS s BHOT IrGEAE SI0RH H0BS T dwé (X. Y. Z)

Options:
X X Z

CO. HCL. anhydrous AlICI,: KMnO,: LiAlH,

| CO. HCL E.ER.‘FB AlClE:



X Y 4

HNO,+H,S0,;: Br,. AIC; KCN /H,0
2, -
X Y Z
Br,. AICI,: HNO,+H, SO0, KCN/H,0
%
X ¥ Z
CO. HCL. anhydrous AICl,: KMnO,: conc. HNO,+conc.H,SO,
CO.HCL wa g AlICL: m& HNO,+m& H,S0,
4

Question Number : 158 Question Id : 1874634638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The reduction products of an aldehyde. ketone and carboxylic acid in the presence of lithium
aluminium hydride are respectively X. Y and Z. Whatare X. Y and Z7?

DHOTH0 BOrgITHo ?E& S0goS” s b, 8¢5°% HabBodn 5008108 wirre BolEd
SdyTen $600m XY, Zeo wondd X. Y. Zen 22?

Options:

R CH(OH)R.R CH,OH. R CH,0OH
L.

R CH,OH. R CH(OH) R. R CH,OH

[

R CH,0H. R CH,OH, R,CHOH

R,CHOH. R CH,.R CH,0H

Question Number : 159 Question Id : 1874634639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A carbonyl compound ‘A’ (CgHgO) does not give iodoform test and on oxidation gave ‘B’.
On heating B with ammonia at higher temperature forms ‘C’. What are *A’and ‘C"?

SHRE ddoyEso ‘A’ (CH0) o@ra'dsSH 565 as bk whismo Do
B2 2000, ©6E (S 5§ ‘B eBmReirs’ 3ok ‘' DGYBR08. A’ 58050
‘C7 e DD?

Options:
A g,
O
CI—[3
O
CHO
O
l.
d.ff:{ :C'-
'IEH3 CDEH
CHO CO.H
2 A
‘_(‘I:{ :C"'
: ,CDC‘H3 : = 'C\!‘.Z'.l]!‘vTI-I:I
3.
»:J.:{ :CH
9]
«CH3
O o
CHO
O



Question Number : 160 Question Id : 1874634640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is Y in the following reaction sequence

Bod SogEioos® Yedia 267

H,PO, /H,O C0._HC1
CHN,Cl——2 20 o : Y
S Anhy. AICl;

@m@,AlCl_:_
Options:
CHO

OH
i ~-CHO

COOH

L-2

OH
;L -COOH



